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(primitive function)

* f(x)

X

F'(x) = f(x)
F(x)  f(x)
&f(x) f(x) (integrate)
& f(X)=x (g]:xz F(x)=%3
*
f(x)
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Fix) f(® 1 F(x)+c ¢
f(x)

f(x) F(x)+c ¢
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() F)+c ()

(indefinite integral)
T

[fodx=F(x)+c c: , F'(0=1(x)
C

[ f()dx=F(x)
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J‘ a+1
@ XadX_ =sintx+c
1 (a¢ 1) J-\/1 X2 (x#=+1)
(Z)I dx = log|x|+¢ T X2=tan’1x+c
(x#0)
@ [erdx=e"+c @® | O Liog e
- 2
1-x= 2 “|x-1 (x % £1)
(@) [sinxdx=cosx+c (g J' dzx |og‘x+ﬁlx “1+c
j de (X <D)
i X
(5))cosxdx=sinx+c (10) = log|x + [x2 +1l+c
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2 f(x),9(x) a

1 j{f (X) £ g(X)}dx =j f(x)dxijg(x)dx
2 jozf (x)dx = aj f (x)dx

1
j—x(j f(x)dxijg(x)dx):%jf(x)dxi%jg(x)dx: f(x) £ g(x)

j f(x)dxijg(x)dx f(X) £ g(x)
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1)
J(Bsin X+ x?)dx

_[{f (x) £ g(x)}dx :j f (x)dxijg(x)dx
f(3sin X+ X2)dxX= IBsin xdx+.[x2dx

3
= 3jsin xdx+jx2dx — _3C0SX+ 4
3

a+l

+C

Jsin XdX =— COSX +C J'xadx _X
a+1l
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(2)
J.(4x5 +%)dx
X

[ (ax® +%)dx = [ (4%° +3x®)dx
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:4Ix5dx+3jx‘3dx:4x—+3x—+c
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©)
1

j(ts o

t2

1 1
dt = | t3dt + dt
t2+1) j J‘t2+l
t4
=—+tan*t+c
4

I(t3+

_[ dxz =tan x+c
1+x
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